FR29F4RA1ENOTR30E3A31HET

(F)
B B pof:]
I —fRIEBRESEE IR D &)
1. BEEHOH
(1) B # RS

OREZEEERD 34,361
HE A ERIFE 34,361
BHEEERIE LS 0
Q=meH 153,391,600
nEIE-3ES 150,542,000
BHRERMRE 2,849,600
©F % ik 16,282,564
Bk IR N 1,955,500
o— R B AR 3 2,292,000
SHEEEINE 4,994,000
BB EME RN 540,000
LYt S e 496,079
REAR S4TSR S 64,404,985

Z Dt NS 1,600,000
@ZFEEXRNS 237,548,353
BHHAERAEENE 74,848,170
{15y E T R AT 15,118,109
&R EHE RN 4,719,536
RSB RS 4,368,428
EHEMNS BN 14,218,753

B E BRI 3,422,311
B TS R AP NS 5,233,035




(M)

B B gl
REBFBHANRIUEE 14,686,094
BRI S BRI 75,275,569
ERERS e PRAVE: 25,658,348

CHBEFRERRGS 297,456,478
AN 36,186,654
BE RN 236,172,432
BT RIS 18,272,520
2 Sew LUVE: 3,175,200
R EBUNEE 3,649,672

©ZmHABEF 98,527,956
RS REZ I & 1,840,000
AT IR B & 53,610,275
HEERERHRNBAS 420,681
SAXZHBHE 2,657,000

ORmE £ 4,767,801
SMFH S 4,767,801

G LNk 6,376,322
SELFI 26,044
A% R 4 & 1,314
Vg 6,348,964

RN ET 834,385,435




(M)

# G L]
(2)REEMA
OF * 3 - 811,827,460
& B RN 2,750,000
Ty 463,771,666
BAELE 75,704,330
BRI E A 17,964,105
KBRS 126,735
RHRERE 24,411,181
EREEE 3,309,472
REARE 422,627
REXEE 2,753,565
BIEEMRE 19,780,367
HFEMBRIRERE 4,953,815
HEMRE 13,639,967
ENRI B A& 9,244,905
EE ik 11,919,711
BME 13,995,054
e 11,397,005
EREE 3,448,096
BEH 34,517,029
R B 11,316,123
BRI 4,700,160
4 601,157
BHE & 1,055,900
REMEH 170,639
REHE 810,563
BN ik 2,670,520




(M)

M B Bl
XIFHH 1,133,778
FRKME 9,231,845
MmBEAE 1,652,483
HE 330,724
AR 44,239,730
ENpClili=talk=y 1,227,227
2= MR IS A & 2,124,782
BRSNS 9,091,228
BYMER AR MENE 170,100
BEMRMENE 940,165
Y77 BmE A 194,400
B3 el alk= 1,714,328
HHEERMENE 041,958




(M)

# B 24
QEEE 24,970,616
% B 2,750,000
BHFEY 5,721,898
BHELE 1,127,706
B 349,650
2% 423,777
it bty 715,667
B EME 642,578
ERAR 204,392
ENRIA 474,751
S B 484,845
it 160,906
R 250,881
B2 1,317,800
LN 8,808,070
S X/8-FiE 652,420
FiEH 327,126
ZIFHH 25,048
wH 83,605
TS 2 279,396
SN I SR L 0 2 170,100
BEEA 836,798,076
S8 45 % AR R AT 24 AR AR A 2,412,641
EAB ETEARS 0
BEAESmERS 0
B& 7 i 4 a2 0
Bl E e 0




(M)

B B &4

=P Gy o A 2,412,641

2. EEIMEROL

(1) # MRz
DEE & EFTHNE 2,130,037
HEREFTAE 2,130,037
e S 2,130,037

(2)@#s B
OEEEETAR 0
SHEHETA 0
QEE & ERIE 3
SR ERE 0
550 R4 3
RENERG 3
= R E SMERER 2,130,034
fhEHREEE 0
=4 S — A% 1E B BA LR R ER A 282,607
—RERMEH RS 1,369,408,017
—RIERBM EHIXRES 1,369,125,410

I $&57%E IERKEA BB DE

4 {45 7€ 1E WK BA EE YR R 2R 0
EEERMEHERS 0
BEERM EHREZES 0
0

I ERBMEHRES

1,369,125,41




